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1) 6x+2=

2) 10a+5=

3) 3y-12=

4) 5-20a=

5) -5+15a=
1) a’-a=
2)  Ax3+x=
3) 6y’ -Ty’=
4) 7x°-6x°=
5) ab®+ab=
6) xa’ +bx=
7) Xy —xly?=

8) x°+x° -x*=
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6) 3x°—6y

7) -4x—8=

8) -8x +4y +16=

9) 3x* 6y -18a=

10) 12x-48y+6+18x°=
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1) 2(3x+1)  2)5(2a+1) 3)3(y-4) 4)5(1-4a) 5)5(-1+3a) 6)3(x>-2y) 7)-4(x+2) (1

8) 4(-2x+y+4)

9) 3(x*— 2y —6a) 10) 6(x — 8y +1+3x?)

) a(@-1) 2)x@x*>+1) 3)y*6y-7) 4)x(7x*-6) 5)ab(b’®+1) 6)x(a’+h) 7)x*y(1-xy)

8) x*(x? +x-1)
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1) 4x +8x%=

2) 3x°—6x=

3) 12a° +6a’=

4) 5x*+10x* - 15x°=

5) 12x%y —3x® — 6x%a=

6) -4x*—6x*—8x’=

7) 24x° - 36x° — 12x°=

8) 30a’c — 24a°h — 12a*b=

9) 36a’h? - 24a’h’=

10) 18x%y* —9x’y'=

11) -32a*b® - 24a%'=

12) 20x3y? — 15x°%° +35x%y°=

13) 28m*n®-21m°n®*—7m°n =

14) 60x*y° z° — 30x %yz* + 15x by 22% =

1910 11%5))
1)4x(1-2x) 2) 3x(x-2) 3)6a’(2+a) 4)5x°(1+2x3-3x)  5)3x*(4x’y —x-2a)  6) -2x*(2x+3+4x)
7) 12x3(2x*-3x3-1)  8) 6a’(5¢ —4a’b — 2a%h) 9) 12a’b*(3a—2b)  10) 9y (2y-xy?)
11)-8a°h°(4a -3h)
12)5x%y(4-3xy+7xy%)  13)7m*n(4mn®-3m°n®—1)  14)15x°yz%(4xy’z*-22°+1x%y
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a’~b? = (a-b)(a+h)
1) a®—9=

2) x?—25=

3) y'-1=

4) x* 4=

5) a’—y’=

6) 36— x’=

7) 4-9x’=

8) -9x? +36=

9) 121x*—100=
10) 49x° — 64y? =
11) -4x* +9y? =
12) 196a° — 169x°=

2
a
13 — —y? =

o
2
X
xay — —4
19) ¢
4%*
gy 16— = —
15) 9

:MAIVN
1) (a-3)(a+3) 2) (x-5)(x+5)  3) (y-1)(y+1) 4) (x-2)(x+2) 5) (a-y)(aty) 6) (6-x)(6+x) 7) (2-3x)(2+3x)
8) (6-3x)(6+3x)  9) (11x-10)(11x+10) 10) (7x-8y)(7x+8y) 11) (3y-2x)(3y+2x) 12) (14a-13x)(14a+13)

9 C-pE+y) 19 E-aC+2) 1 4-Za+ 2
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2x?—18=
5x? — 5=
20— 5x° =
48 —3x? =
3x* - 27y’=
36 —4a” =
X3 — x=

2x3 — 8x=

36x° — 9x=

10) 16x* —4x° =

11) 18ab® - 2a’=

12) 36a°— 16a’=

13) 16x* - 81x°=

14) 18x* - 32x*=

1)
2)
3)

4)
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a’~b? = (a-b)(a+h)

.DOY12) WIONY NNDNI NN IHUN 16 99390

25x%-  =(___ +3)(5x +3)
(3a-__ )X )=9a* - 36
(_+ ) )=4x% — 49y*
(3x+__ )X -

tMIVN

1) 2(x-3)(x+3) 2) 5(x-1)(x+1) 3)5(2-x)(2+x) 4)3(4-x)(4+x) 5) 3(x-3y)(x+3y) 6) 4(3-3)(3+a) 7) x(x-1)(x+1)
8) 2x(X-2)(x+2) 9) Ix(2x-1)(2x+1) 10) 4x*(2x-1)(2x+1) 11) 2a*(3b-1)(3b+1) 12) 4a°(3a-2)(3a+2)

13) x*(4-9x)(4+9x)  14) 2x*(3x-4)(3x+4)

1) 9,5x 2) 6,3a,6 3)2x,7y,2x,7y  4) 7a, 3x,9x*,49a°
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a’+2ab+b*=(a+b)’
a’-2ab+b’=(a - b)?

1) x*+6x +9=

2) X +4x +4=

3) x?+10x +25=

4) X -6x+9=

5) X°-4x+4=

6) X - 14x +49=

7) X2 42x +1=

8) 16— 8x +x°=

9) 25— 40x +16x°=
10)  9—12x +4x*=
11) 25-20x +4x*=
12) 9y*- 12xy +4x’=
13) 49y + 28xy +4x*=
14) 9y*+ 12xy +4x°=

15) 9y*-6xy +x°=

1) (x+3)°
9) (5-4x)?

2) (x+2)>  3) (x+5)>  4) (x - 3)°

5) (X — 2 )

:MIYN
6) (x—=7)° 7) (x+1)> 8) (4-x)

10) (4-2x)% 11) (5-2x)*> 12) (3y-2x)* 13) (7y+2x)* 14) (By+2x)* 15) (3y+x)?
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a’+2ab+b*=(a+b)’
a’-2ab+b’=(a - b)?

1)  3x% +6x+3=

2)  2x* +16x+32=

3)  4x® +40x+100=

4) 5a°-20a+ 20=

5)  x3+20x? +100x=

6) x*+2x3 +x°=

7) Y — 8xy*+16x°yP=
8)  4y*— 16xy*+16x%y’=

9)  9y® + 24xy*+16x%y*=

V12592 YN YT NNDNA YN INOWUN 19 9N

) (x-_)=_-__ +4
2) (x-__)¥=_ - +16
3) 3x-__)P=_ - 49

4) (__-_)’=16a"-__ +4
5) (- )?=25x%-  +4y
*6) (__-__)"= __ +48y+6dy’

12 1)=1)%2))
1) 3(x+1)?  2) 2(x+4)?> 3) 2(x+5)% 4)5(a+2)> 5) x(x+10)? 6) X2(x+1)? 7) yA(1+4x)?
8) 4¥2(l+2x)2
9) y*(3+4x)°
1)2,x% 4x  2)4,x% 8x 3) 3,9x% 18x 4)4a 2, 16a 5)5x,2y,20xy 6)3,8y,9



